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Question Answer Mark
Number
8(a) 1. {movement / diffusion / eq} of water through

a partially permeable membrane / eq;

2. from a region with more free water to a region

with less free water / down water

concentration gradient / eq ; ()
Question Answer Mark
Number
8(b)(i) 1. due to high uptake of more water / eq ;

2. as higher water concentration outside potato /
eq;

3. idea of largest difference in concentrations of
solutions ;

3)
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Question Mark
Number
8(b)(ii) EITHER
1. {mass increased / positive change} at 0.6 and
{mass decreased / negative change} at 0.8
(moldm™) ;
2. idea that concentration is closer to 0.8 than
0.6 mol dm™ as the decrease in mass is greater
than the increase in mass - 0.11 is closer to
zero than +0.31;
3. idea of no net movement of water ;
OR
1. results were plotted onto a graph ;
2. the line crossed the x axis at 0.75 mol dm~eq ;
max

3. idea of no net movement of water ;

)





image8.png
Question
Number

Answer

Mark

8(c)

Any two from:

age,

{type / variety / genotypes / country of origin / eq},

storage time,

growth conditions,

part of potato used,

damage,

sprouting,

{storage conditions / temperature / humidity / light /
eq} 3

)

Question
Number

Answer

8(d)

Any two from:

potato pieces are not straight,

potato widths are different,

edges may not be cut straight,

rulers are {subjective / analogues},
change in length is small,

only measuring changes in one plane ;;

)





image1.png
8 Inan osmosis investigation, a student prepared five pieces of raw potato of equal
mass and a range of sucrose solutions of different concentrations.

One piece of potato was placed in each sucrose solution. After two hours, the potato
pieces were removed and blotted dry and the change in mass of each potato piece
was calculated.

The results are shown in the table below.

Concentration of sucrose | Change in mass of potato
solution / mol dm plece/g
02 +134
04 +0.82
06 +031
08 -0.11
10 065

(@) Explain the meaning of the term osmosis.
@
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(b) (i)

Explain why the piece of potato placed in 0.2 mol dm sucrose solution had
the largest change in mass.

(3)
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(i) The student suggested that there would be no change in the mass of a piece
of potato placed in a sucrose solution of 0.75 mol dm.  Give an explanation
for this suggestion.
@
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(€) The student repeated this investigation using another potato and the results were
different.

The student concluded that there was a difference in water content of the two
potatoes. Suggest two reasons for this difference in water content.
@
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(d) A second student wanted to perform this investigation by measuring the change
inlength of the potato pieces. The student was advised that this method would
not be as accurate as weighing the potato pieces.

Suggest two reasons why measuring the change in length would not be as
accurate as weighing the potato pieces.

(Total for Question 8 = 11 marks)




